
MATHS

BOOKS - PREMIERS PUBLISHERS

BASIC ALGEBRA

Worked Example

1.  Solve

Watch Video Solution

|3x + 14| = 2

2. Solve3|x + 2| − 4 = 5

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_couYr7MqOtAY
https://dl.doubtnut.com/l/_RY5F5gW4q8fe


Watch Video Solution

3. solve

Watch Video Solution

|3x + 1| = |2x − 1|

4. solve

Watch Video Solution

|a − 5| ≤ 4f or a

5. solve

Watch Video Solution

∣
∣
∣

∣
∣
∣

> 1, x ≠ − 2
−3

x + 2

https://dl.doubtnut.com/l/_RY5F5gW4q8fe
https://dl.doubtnut.com/l/_6ZtjsHnQJQj7
https://dl.doubtnut.com/l/_XSdhIIdb2za2
https://dl.doubtnut.com/l/_ar4Qdq9WnOi3


6. solve

Watch Video Solution

7x + 50 ≤ 2x + 75

7. Given that Total cost = fixed cost + Variable cost. (T=f+

nu). If the fixed cost isrs 250 and variable cost varies at the

rate ofrs 5x. If a person wants the total cost to be below750

find x

Watch Video Solution

8. solve

Watch Video Solution

7x − 21 ≥ 0, 2x − 12 ≤ 6

https://dl.doubtnut.com/l/_x8UmYOpeSJ31
https://dl.doubtnut.com/l/_wtay7p3MTdhs
https://dl.doubtnut.com/l/_z9gthEFM4bLb
https://dl.doubtnut.com/l/_yvuO0GzDJRMw


9. Mr. X wants to save rs 1000. He has alreadysavedrs 275.

He wants to save the remaining amount within 5 days.

What is the least amount to be saved per day to get his

target?

Watch Video Solution

10. If alpha and beta are the roots of the equation

,find


Q

Watch Video Solution

x2 − ax + b = 0

(a) +
α

β

β

α

https://dl.doubtnut.com/l/_yvuO0GzDJRMw
https://dl.doubtnut.com/l/_1y6MsWmZZu0q


11. If alpha and beta are the roots of the equation

,find 


Q(b)

Watch Video Solution

x2 − ax + b = 0

+
1

α

1

β

12. Find p if  has equal roots

Watch Video Solution

x2– px + p = 0

13. solve

Watch Video Solution

x2 + 2|x − 1| = 1

https://dl.doubtnut.com/l/_abHCXOmO1Nh0
https://dl.doubtnut.com/l/_svD8LZaB5sr7
https://dl.doubtnut.com/l/_mB8XhY4c4G5s


14. Solve

Watch Video Solution

4x2 − 7x − 2 ≤ 0

15. Solve

Watch Video Solution

√4x − 5 < x + 2

16. Solve

Watch Video Solution

√7 − 2x − x2 = x + 1

17. Find a quadratic polynomialf (x) given that

f( − 1) = 2, f(0) = 3, f(1) = 6

https://dl.doubtnut.com/l/_Xlj6MY0oqVQT
https://dl.doubtnut.com/l/_9dXWsAPFIoPC
https://dl.doubtnut.com/l/_Jl3PTqJAtE1h
https://dl.doubtnut.com/l/_YBzeeMKaTARS


Watch Video Solution

18. Find the roots of the polynomial equation

 and state their multiplicity

Watch Video Solution

(x + 2)3(x − 1)2(x + 1) = 0

19. Solve

Watch Video Solution

x = √3x + 4

20. The equations  and 

have one root in common The other root of these

x2 − 4x + a = 0 x2 + bx + 5 = 0

https://dl.doubtnut.com/l/_YBzeeMKaTARS
https://dl.doubtnut.com/l/_p8sVri32GsSr
https://dl.doubtnut.com/l/_dF7XlzLjkUHL
https://dl.doubtnut.com/l/_ArRIUarviCqR


equations are integers in the ratio 3 : 5Find the common

root

Watch Video Solution

21. Construct a cubic polynomial "having" "roots" 

and 1 such "that"

Watch Video Solution

2, − 3

f(0) = 6

22. Prove that  " if " " is divisible by"

Watch Video Solution

p + q = 0 x3 − 3px + 2q

(x + 1)2

https://dl.doubtnut.com/l/_ArRIUarviCqR
https://dl.doubtnut.com/l/_DsBuHxIHQq8R
https://dl.doubtnut.com/l/_utm5Jwa7XZhA


23. Find the value of k for which the sum of the squares of

the reciprocals of the roots of

Watch Video Solution

x2 + kx + 9 = 0is(2)

24. solve

Watch Video Solution

< 3
2x + 1

x − 2

25. solve

Watch Video Solution

> 0
x2 − 1

x − 2

26. Resolve into partial fractions
1

(x + 1)(x + 2)(x + 3)

https://dl.doubtnut.com/l/_v8W3n4H0F9Y6
https://dl.doubtnut.com/l/_8yVgCHkWa9iK
https://dl.doubtnut.com/l/_sNsqjsQsBtkc
https://dl.doubtnut.com/l/_R4fE1QBtwH2B


View Text Solution

27. Resolve into partial fractions

Watch Video Solution

2x + 1

(x − 2)(x2 + 1)

28. Resolve into partial fractions

View Text Solution

x

(x − 1)(x + 1)
2

29. Sketch the region represented by .

View Text Solution

x + y ≤ 1

https://dl.doubtnut.com/l/_R4fE1QBtwH2B
https://dl.doubtnut.com/l/_UHtpadbmNZC1
https://dl.doubtnut.com/l/_ojbkWLM5fru9
https://dl.doubtnut.com/l/_A7FYraPEb8Vr
https://dl.doubtnut.com/l/_6bSDUCIDjwJn


30. Sketch the region represented by

View Text Solution

y ≥ 1

31. Simplify

Watch Video Solution

(xa− b)
a+ b

. (xb− c)
b+ c

. (xc−a)
c+a

32. Simplify

Watch Video Solution

+
1

√3 + √2

1

√3 − √2

33. find the square rootof

Watch Video Solution

11 + 6√2

https://dl.doubtnut.com/l/_6bSDUCIDjwJn
https://dl.doubtnut.com/l/_zHkYXIKrqqdc
https://dl.doubtnut.com/l/_dekr7UdgT8Kf
https://dl.doubtnut.com/l/_xHKaeiZ9ivqO


34. If log(2)=0.30103 find the number of digits in 

Watch Video Solution

2100

35. If log log  find log

Watch Video Solution

102 = 0.3010 103 = 0.4772 10144

36. Compute log2 . log

Watch Video Solution

(3) 27(128)

37. Find the logarithm of 324 to the base 3√2

https://dl.doubtnut.com/l/_xHKaeiZ9ivqO
https://dl.doubtnut.com/l/_VnpMLXZoOESL
https://dl.doubtnut.com/l/_duEBfsPrbWXa
https://dl.doubtnut.com/l/_Xef6Fc6R7jfw
https://dl.doubtnut.com/l/_yDiGfHVpoQkz


Watch Video Solution

38. If the logarithm of 1728 to the base a is 6 Find a

Watch Video Solution

39. Símplify log +log +log

Watch Video Solution

81

16
64
27

4
48

40. Show that N + log 

Watch Video Solution

loga N = 0
1

a

https://dl.doubtnut.com/l/_yDiGfHVpoQkz
https://dl.doubtnut.com/l/_TH0FBx0M4yaA
https://dl.doubtnut.com/l/_N0LqwFxV9mYm
https://dl.doubtnut.com/l/_gug8bDyu9gtO


Solution To Exercise 2 1

1. Classify each element of  as a

member of .

Watch Video Solution

{√7, , 0, 3.14, 4, }
−1

4

22

7

N, Q, R − Q or Z

2. Prove that  is an irrational number. (Hint: Follow the

method that we have used to prove .)

Watch Video Solution

√3

√2 ∈ Q

3. Are there two distinct irrational numbers such that their

difference is a rational number? Justify

h id l i

https://dl.doubtnut.com/l/_3yPKeyCVMhka
https://dl.doubtnut.com/l/_44nEd5e2UDlg
https://dl.doubtnut.com/l/_nIvWlagsHQ2R


Solution To Exercise 2 2

Watch Video Solution

4. Find two irrational numbers such that their sum is a

rational number. Can you find two irrational numbers

whose product is a rational number.

Watch Video Solution

5. Find a positive number smaller than  Justify

View Text Solution

1

21000

https://dl.doubtnut.com/l/_nIvWlagsHQ2R
https://dl.doubtnut.com/l/_YqPZ2IIZBL3p
https://dl.doubtnut.com/l/_ZwJNF8gV1oba


1. Solve for x 

|3 - x|  7

Watch Video Solution

<

2. Solve for x 

|4x - 5|  -2

Watch Video Solution

≥

3. Solve for x 

Watch Video Solution

∣
∣
∣
3 − x

∣
∣
∣

≤
3

4

1

4

https://dl.doubtnut.com/l/_VXH51A6dtyo7
https://dl.doubtnut.com/l/_m7ZwGTDCb5MR
https://dl.doubtnut.com/l/_ymMZ6ZmQHLW1
https://dl.doubtnut.com/l/_r8Oo5agpjI6R


4. Solve for x 

|x| - 10  -3

Watch Video Solution

<

5. Solve  6 and express the solution using the

interval notation.

Watch Video Solution

<
1

|2x − 1|

6. Solve -3 |x|+ 5  -2 and graph the solution set in a

number line.

Watch Video Solution

≤

https://dl.doubtnut.com/l/_r8Oo5agpjI6R
https://dl.doubtnut.com/l/_TOIVdTUee8PV
https://dl.doubtnut.com/l/_o2bj5eJs72di
https://dl.doubtnut.com/l/_E1ts3rtWzkkT


Solution To Exercise 2 3

7. Solve 2|x + 1| - 6  7 and graph the solution set in a

number line.

Watch Video Solution

≤

8. Solve:  1.

Watch Video Solution

|10x − 2| <
1

5

9. Solve: |5x - 12|  -2.

Watch Video Solution

<

https://dl.doubtnut.com/l/_E1ts3rtWzkkT
https://dl.doubtnut.com/l/_nKjnhwbVi04y
https://dl.doubtnut.com/l/_70suP55f0ZlG
https://dl.doubtnut.com/l/_Y0quKklVA5V5


1. Represent the following inequalities in the interval

notation: 

x

Watch Video Solution

≥ − 1 and x < 4

2. Represent the following inequalities in the interval

notation: 

Watch Video Solution

x ≤ 5 and x ≥ − 3

3. Represent the following inequalities in the interval

notation: 

https://dl.doubtnut.com/l/_Y0quKklVA5V5
https://dl.doubtnut.com/l/_empfmW1Cs87w
https://dl.doubtnut.com/l/_Nt0PFOKJaDep


Watch Video Solution

x < − 1 or x < 3

4. Represent the following inequalities in the interval

notation

Q

Watch Video Solution

−2x > 0

5. Represent the following inequalities in the interval

notation

Q

Watch Video Solution

3x − 4 < 11

https://dl.doubtnut.com/l/_Nt0PFOKJaDep
https://dl.doubtnut.com/l/_zfFKgjREFn00
https://dl.doubtnut.com/l/_JNcGK8ZlMzAi


6. Solve 23x  100 when 


x is a natural number

Watch Video Solution

<

7. Solve 23x  100 when 


x is a integer

Watch Video Solution

<

8. Solve -2x  9 when 


x is a real number

Watch Video Solution

≥

https://dl.doubtnut.com/l/_fjnUucAm1wSn
https://dl.doubtnut.com/l/_pu38IQryOofu
https://dl.doubtnut.com/l/_sToDsOfSFi4W
https://dl.doubtnut.com/l/_hZIayte2I9l6


9. Solve -2x  9 when 


x is a real number

Watch Video Solution

≥

10. Solve -2x  9 when 


x is a natural number.

Watch Video Solution

≥

11. Solve: 

Watch Video Solution

≤
3(x − 2)

5

5(2 − x)

3

https://dl.doubtnut.com/l/_hZIayte2I9l6
https://dl.doubtnut.com/l/_WEdjSgkwofl2
https://dl.doubtnut.com/l/_frZVt3lIxiVN
https://dl.doubtnut.com/l/_g6ROJK7F1NrE


12. Solve: 

Watch Video Solution

< − 4
5 − x

3
x

2

13. To secure A grade one must obtain an average of 90

marks or more in 5 subjects each of maximum 100 marks. If

one scored 84,87,95,91 in first four subjects, what is the

minimum mark one scored in the fifth subject to get A

grade in the course?

Watch Video Solution

https://dl.doubtnut.com/l/_g6ROJK7F1NrE
https://dl.doubtnut.com/l/_1GsstlGy7i7g


14. A manufacturer has 600 litres of a 12 percent solution of

acid. How many litres of a 30 percent acid solution must be

added to it so that the acid contect in the resulting mixture

will be more than 15 percent but less than 18 percent?

Watch Video Solution

15. Find all pairs of consecutive odd natural numbers both

of which are larger than 10 and their sum is less than 40.

Watch Video Solution

16. A model rocket is launched from the ground. The height

'h' reached by the rocket after t seconds from lift off is

https://dl.doubtnut.com/l/_kt5ftaDw2rCk
https://dl.doubtnut.com/l/_eP2rdxjUKJH8
https://dl.doubtnut.com/l/_BJLe58x2yum3


given by h(t) = - . At what time the

rocket is 495 feet above the ground?

Watch Video Solution

5t2 + 100t, 0 ≤ t ≤ 20

17. A plumber can be paid according to the following

schemes, In the first scheme he will be paid rupees 500 plus

rupees 70 per hour, and in the second scheme he will paid

120 rupees per hour. If he works x hours. Then for what

value of x does the first scheme give better wages?

Watch Video Solution

18. A and B are working on similar jobs but their annual

salaries differ by more than ₹ 6000. if B earns rupees 27000

https://dl.doubtnut.com/l/_BJLe58x2yum3
https://dl.doubtnut.com/l/_Z6yBtqHokyHG
https://dl.doubtnut.com/l/_op5NjS8AGXw8


Solution To Exercise 2 4

per month, then what are the possibilities of A`s salary per

month?

Watch Video Solution

1. Construct a quadratic equation with roots 7 and -3.

Watch Video Solution

2. A quadratic polynomial has one of its zeros as 1 +  and

it satisfies p(1) = 2. find the quadratic polynomial.

Watch Video Solution

√5

https://dl.doubtnut.com/l/_op5NjS8AGXw8
https://dl.doubtnut.com/l/_XKLBVeqYlnKu
https://dl.doubtnut.com/l/_dRF4alVkXlZa


3. If  are the roots of the quadratic equation 

. Form a quadratic polynomial with

zeros .

Watch Video Solution

α and β

x2 + √2x + 3 = 0

,
1

α

1

β

4. If one root  is double the other root,

show that k = 2 or - 25.

Watch Video Solution

k(x − 1)
2

= 5x − 7

5. If the difference of the roots of the equation

x + a -1 = 0 ` is equal to their product, then

prove that a = 2.

2x2 − (a + 1)

https://dl.doubtnut.com/l/_33fgylFvazSv
https://dl.doubtnut.com/l/_QvDnciNfDWR7
https://dl.doubtnut.com/l/_T5fU6gzzT1M9


Watch Video Solution

6. Find the condition that one of the roots of 

may be 

(i) negative of the other,

Watch Video Solution

ax2 + bx + c

7. Find the condition that one of the roots of

may be

Q (ii) thrice the other

Watch Video Solution

ax2 + bx + c

https://dl.doubtnut.com/l/_T5fU6gzzT1M9
https://dl.doubtnut.com/l/_Geb6t9gLI7j9
https://dl.doubtnut.com/l/_Dy7gaIdUBdU6


8. If the equations  and 

have one root in common and if the second equation has

equal roots, then prove that ae = 2 (b + f).

Watch Video Solution

x2 − ax + b = 0 x2 − ex + f = 0

9. Discuss the nature of roots of 

Watch Video Solution

−x2 + 3x + 1 = 0

10. Discuss the nature of roots of 

Watch Video Solution

4x2 − x − 2

https://dl.doubtnut.com/l/_b7WoZnZIOigY
https://dl.doubtnut.com/l/_NWKSV1JFcKQ0
https://dl.doubtnut.com/l/_bc5omgF4rmhR


Solution To Exercise 2 8

11. Discuss the nature of roots of 

.

Watch Video Solution

9x2 + 5x = 0

1. Find the condition that one of the roots of 

may be 

(iii)reciprocal of the other.

Watch Video Solution

ax2 + bx + c

https://dl.doubtnut.com/l/_bc5omgF4rmhR
https://dl.doubtnut.com/l/_7h1yu3WXVZsh
https://dl.doubtnut.com/l/_5XvloLkfOs5g


2. Write f(x) =  in completed square form.

Watch Video Solution

x2 + 5x + 4

3. Find all values of x for which .

Watch Video Solution

> 0
x3(x − 1)

(x − 2)

4. Find all values of x that satisfies the inequality

 0.

Watch Video Solution

<
2x − 3

(x − 2)(x − 4)

5. Solve: .≤ 0
x2 − 4

x2 − 2x − 15

https://dl.doubtnut.com/l/_xcGMRfDhxi4x
https://dl.doubtnut.com/l/_yJhftKtLM49M
https://dl.doubtnut.com/l/_xJDYfoIBRW1C
https://dl.doubtnut.com/l/_QNrbcqn0kr14


Solution To Exercise 2 5

Watch Video Solution

1. Without sketching the graphs, find whether the graphs of

the following functions will intersect the x-axis and if so in

how many points. 

y = 

Watch Video Solution

x2 + x + 2,

2. Solve 0.

Watch Video Solution

2x2 + x − 15 ≤

https://dl.doubtnut.com/l/_QNrbcqn0kr14
https://dl.doubtnut.com/l/_mbyxnCKzqsU5
https://dl.doubtnut.com/l/_6BeWPUsVIkhp
https://dl.doubtnut.com/l/_M3usdRlTANzY


Solution To Exercise 2 6

3. Solve .

Watch Video Solution

−x2 + 3x − 2 ≤ 0

1. Without sketching the graphs, find whether the graphs of

the following functions will intersect the x-axis and if so in

how many points. 

y = 

Watch Video Solution

x2 − 3x − 7

2. Find the zeros of the polynomial function f(x) =4x2 − 25.

https://dl.doubtnut.com/l/_M3usdRlTANzY
https://dl.doubtnut.com/l/_ALrDge5rdkhe
https://dl.doubtnut.com/l/_fkLdJpGz6WbY


Watch Video Solution

3. If x = -2 is one root of . Then find the

other roots of the equation.

Watch Video Solution

x3 − x2 − 17x = 22

4. Find the real root of  = 16

Watch Video Solution

x4

5. Solve:  = 0

Watch Video Solution

(2x + 1)2 − (3x + 2)2

https://dl.doubtnut.com/l/_fkLdJpGz6WbY
https://dl.doubtnut.com/l/_XeZjfScMCSkU
https://dl.doubtnut.com/l/_YUdVk2Gp6f1d
https://dl.doubtnut.com/l/_rgX5t7lXSuva


Solution To Exercise 2 7

1. Without sketching the graphs, find whether the graphs of

the following functions will intersect the x-axis and if so in

how many points. 

Watch Video Solution

y = x2 + 6x + 9

2. Factorize  ( Hint: try completing the square.)

Watch Video Solution

x4 + 1

3. If  x + 1 is a factor of the polynomial 

 then find the value of a.

x2 +

3x3 + 8x2 + 8x + a,

https://dl.doubtnut.com/l/_GLSNgsDVN2KV
https://dl.doubtnut.com/l/_hbtccnX1VL5W
https://dl.doubtnut.com/l/_4ZcHJraYVyoM


Solution To Exercise 2 9

Watch Video Solution

1. Resolve the following rational expressions into partial

fractions.(1)

Watch Video Solution

1

x2 − (a2)

2. 

Watch Video Solution

3x + 1

(x − 2)(x + 1)

https://dl.doubtnut.com/l/_4ZcHJraYVyoM
https://dl.doubtnut.com/l/_TChfqYgiWkJe
https://dl.doubtnut.com/l/_3g20dtjWmgkY


3. Resolve the following rational expression into partial

fractions. 

Watch Video Solution

x

(x2 + 1)(x − 1)(x + 2)

4. Solve: 

Watch Video Solution

1

x2 − 1

5. Solve: 

Watch Video Solution

∫
dx

x4 − 1

https://dl.doubtnut.com/l/_pf9YJnWLDUvI
https://dl.doubtnut.com/l/_0KM3chuWmdx1
https://dl.doubtnut.com/l/_fTVbpHDCkkN7


6. Resolve the following rational expression into partial

fractions. 

Watch Video Solution

(x − 1)
2

x3 + x

7. Resolve the following rational expression into partial

fractions. 

Watch Video Solution

x2 + x + 1

x2 − 5x + 6

8. Resolve the following rational expression into partial

fractions. 

https://dl.doubtnut.com/l/_Ay3LJzZ0fPPf
https://dl.doubtnut.com/l/_nEECC19j4FU3
https://dl.doubtnut.com/l/_PWubMNyqiL4A


Watch Video Solution

x3 + 2x + 1

x2 + 5x + 6

9. Resolve the following rational expression into partial

fractions. 

Watch Video Solution

x + 12

(x + 1)
2
(x − 2)

10. Resolve the following rational expression into partial

fractions. 

Watch Video Solution

6x2 − x + 1

x3 + x2 + x + 1

https://dl.doubtnut.com/l/_PWubMNyqiL4A
https://dl.doubtnut.com/l/_NJsqVTRO8QQW
https://dl.doubtnut.com/l/_qoUbt6mHDJJQ


Solution To Exercise 2 10

11. Resolve the following rational expression into partial

fractions. 

Watch Video Solution

2x2 + 5x − 11

x2 + 2x − 3

12. Resolve the following rational expression into partial

fractions. 

Watch Video Solution

7 + x

(1 + x)(1 + x2)

https://dl.doubtnut.com/l/_L71ky4BlcK0z
https://dl.doubtnut.com/l/_uHoXtZ1rxNnM


1. Determine the region in the plane determined by the

inequalities. 

Watch Video Solution

x ≤ 3y, x ≥ y

2. 

Watch Video Solution

2x + 3y ≤ 35, y ≥ 2, x ≥ 5

3. 

Watch Video Solution

2x + 3y ≤ 6, x + 4y ≤ 4, x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_uKdYC7ybBGS8
https://dl.doubtnut.com/l/_bCbvf4ZMjgcD
https://dl.doubtnut.com/l/_AgpksF2piibf


Solution To Exercise 2 11

4. 

Watch Video Solution

x − 2y ≥ 0, 2x − y ≤ − 2, x ≥ 0, y ≥ 0

1. Simplify: 

Watch Video Solution

(125)
2
3

2. Simplify: 

Watch Video Solution

16− 3
4

https://dl.doubtnut.com/l/_dEtX9zwjRryT
https://dl.doubtnut.com/l/_F8hj6oCdLB4d
https://dl.doubtnut.com/l/_bUWKrgTCx21v


3. Simplify: 

Watch Video Solution

(1000)
− 2
3

4. Simplify: 

Watch Video Solution

(27)
− 2

3

(27)
− 1
3

5. Evaluate 

Watch Video Solution

([(256) ] )

3
− 1

2

− 1
4

https://dl.doubtnut.com/l/_bUWKrgTCx21v
https://dl.doubtnut.com/l/_GRZjGjEeAQ7R
https://dl.doubtnut.com/l/_JADopd1BJYsL
https://dl.doubtnut.com/l/_tmqu7gMyLYJN


6. If , then find the value of 

 for .

Watch Video Solution

(x+ + x− )
2

=
1
2

1
2

9

2

(x − x− )
1
2

1
2 x > 1

7. Simplify and hence find the value of n:  = 27

Watch Video Solution

32n923−n

33n

8. Find the radius of the spherical tank whose volume is

 units.

Watch Video Solution

32π

3

https://dl.doubtnut.com/l/_tmqu7gMyLYJN
https://dl.doubtnut.com/l/_YHKBUVV6mpU5
https://dl.doubtnut.com/l/_WGf8t0kOOf8G
https://dl.doubtnut.com/l/_TRHjPJmwldIQ
https://dl.doubtnut.com/l/_wotpP98Jbn7i


Solution To Exercise 2 12

9. Simplify by rationalising the denominator. .

Watch Video Solution

7 + √6

3 − √2

10. Simplify

Watch Video Solution

− + − +
1

3 − √8

1

√8 − √7

1

√7 − √6

1

√6 − √5

1

√5 − 2

11. If x =  find .

Watch Video Solution

√2 + √3
x2 + 1

x2 − 2

https://dl.doubtnut.com/l/_wotpP98Jbn7i
https://dl.doubtnut.com/l/_39VWm8GQh70T
https://dl.doubtnut.com/l/_AFCfKaar883P


1. Simplify: 

Watch Video Solution

(3− 6)
1
3

2. Let b  0 and b  1. Express y =  in logarithmic

form. Also state the domain and range of the logarithmic

function.

Watch Video Solution

> ≠ bx

3. Compute 

Watch Video Solution

log27
9 −  log9

27

https://dl.doubtnut.com/l/_zAmLYQeCc4PE
https://dl.doubtnut.com/l/_PYfVpzdU788E
https://dl.doubtnut.com/l/_b5sex2YzRndh
https://dl.doubtnut.com/l/_5LHEImzpTQ0V


4. solve : .

Watch Video Solution

log8x + log4x + log2x = 11

5. solve : 

Watch Video Solution

log428x = 2log8
2

6. If ab, show that log  (log a +

log b ).

Watch Video Solution

a2 + b2 = 7 ( ) =
a + b

3

1

2

7.  Prove log + log( ) = 0
a2

ba

b2

ab

https://dl.doubtnut.com/l/_5LHEImzpTQ0V
https://dl.doubtnut.com/l/_ONNuPpjkFLn5
https://dl.doubtnut.com/l/_FhFJeep33dtz
https://dl.doubtnut.com/l/_azSvzIDiSukh


Watch Video Solution

8. Prove that  = 1 .

Watch Video Solution

log2 + 16log + 12log + 7log
16

15

25

24

81

80

9. Prove that .

Watch Video Solution

loga2a  logb2b logc2 c =
1

8

10. Prove log a + log +……..+ log  


=  log a

Watch Video Solution

a2 + loga3 an

n(n + 1)

2

https://dl.doubtnut.com/l/_azSvzIDiSukh
https://dl.doubtnut.com/l/_SUz96jDqzTvy
https://dl.doubtnut.com/l/_LIBIxATlzPLA
https://dl.doubtnut.com/l/_xEOMXwWBcGdB


Solution To Exercise 2 13

11. If  , then prove that xyz = 1.

Watch Video Solution

= =
logx

y − z

logy

z − x

logz

x − y

12. Solve: 

Watch Video Solution

log2x − 3 log x = 61
2

13. Solve .

Watch Video Solution

log5 −x(x
2 − 6x + 65) = 2

https://dl.doubtnut.com/l/_VVKWmRC6hbnJ
https://dl.doubtnut.com/l/_IArYtd60Faz6
https://dl.doubtnut.com/l/_ZX3dzbBn2eTB


1. If |x + 2|  9 , then x belongs to

A.  

B. )

C. cup

D. (-11,7)

Answer: B

Watch Video Solution

≤

( − ∞, − 7)

[ − 11, 7]

( − ∞, − 7) [11, ∞)

2. Given that x, y and b are real numbers x  y, b  0,

then

A. 

< >

xb < yb

https://dl.doubtnut.com/l/_onKW8f4eNc8i
https://dl.doubtnut.com/l/_fGnadN4nbRyR


B. 

C. 

D. 

Answer: A

Watch Video Solution

xb > yb

xb > yb

[Math Processing Error]

3. If  0, then x belongs to

Watch Video Solution

≥
|x − 2|

x − 2

4. The solution of 5x -1  24 and 5x + 1  -24 is

A. .

< >

(4, 5)

https://dl.doubtnut.com/l/_fGnadN4nbRyR
https://dl.doubtnut.com/l/_5mXiiQ3XBp68
https://dl.doubtnut.com/l/_pmhGLW9Cyj2y


B. 

C. 

D. 

Answer: C

Watch Video Solution

( − 5, − 4)

( − 5, 5)

( − 5, 4)

5. The solution set of the following inequality

 is

A. 

B. 

C.  

D. 

|x − 1| ≤ |x − 3|

[0, 2]

[2, ∞)

(0, 2)

( − ∞, 2)

https://dl.doubtnut.com/l/_pmhGLW9Cyj2y
https://dl.doubtnut.com/l/_11weZuGhjYbp


Answer: B

Watch Video Solution

6. The value of  is

A. 16

B.  18

C.  9

D.  12

Answer: B

Watch Video Solution

log
√2

512

https://dl.doubtnut.com/l/_11weZuGhjYbp
https://dl.doubtnut.com/l/_Bs6xOkErnSfB


7. The value of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

log3

1

81

( − 2)

( − 8)

( − 4)

( − 9)

8. If 0.25 = 4, then the value of x is

A.  0.5

B. 2.5

log√x

https://dl.doubtnut.com/l/_Xs9ybF8pNF47
https://dl.doubtnut.com/l/_cZU8qT46F4tq


C. 1.5

D. 1.25

Answer: A

Watch Video Solution

9. The value of  a is

A. 2

B. 1

C. 3

D. 4

Answer: B

logablogbclogc

https://dl.doubtnut.com/l/_cZU8qT46F4tq
https://dl.doubtnut.com/l/_QPa0ZNCK96G2


Watch Video Solution

10. If 3 is the logarithm of 343, then the base is

A. 5

B. 7

C. 6

D. 9

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_QPa0ZNCK96G2
https://dl.doubtnut.com/l/_BF6pVVI0tuhG


11. Find a so that the sum and product of the roots of the

equation  are equal is

A. 1

B. 2

C. 0

D. 4

Answer: B

Watch Video Solution

2x2 + (a − 3)x + 3a − 5 = 0

12. If a and b are the roots of the equation

 and satisfy  then thex2 − kx + 16 = 0 a2 + b2 = 32,

https://dl.doubtnut.com/l/_lfU2a3cRCKDn
https://dl.doubtnut.com/l/_XsJOdiXgBMRN


value of k is

A. 

B. 

C. 

D. `

Answer: C

Watch Video Solution

k = 10

k = − 8

k = = − 8, 8

k = 6

13. The number of solutions of  = 1 is

A. 1

B. 0

x2 + |x − 1|

https://dl.doubtnut.com/l/_XsJOdiXgBMRN
https://dl.doubtnut.com/l/_1FYXXKJQ15pr


C. 2

D. 3

Answer: C

Watch Video Solution

14. The equation whose roots are numerically equal but

opposite in sign to the roots of  = 0 is

A.  

B. 

C. 

D. 

3x2 − 5x − 7

3x2 − 5x − 7 = 0

3x2 + 5x − 7 = 0

3x2 − 5x + 7 = 0

3x2 + x − 7

https://dl.doubtnut.com/l/_1FYXXKJQ15pr
https://dl.doubtnut.com/l/_OFwQcP0iz9OR


Answer: B

Watch Video Solution

15. If 8 and 2 are the roots of  + ax + c = 0 and 3,3 are the

roots of + dx + b = 0, then the roots of the equation 

 are

A. 1,2

B. 

C. 9,1

D. 

Answer: C

Watch Video Solution

x2

x2

x2 + ax + b = 0

−1, 1

−1, 2

https://dl.doubtnut.com/l/_OFwQcP0iz9OR
https://dl.doubtnut.com/l/_FLSOqMuhSPrD


16. If a and b are the real roots of the equation - kx + c =

0, then the distance between the points (a, 0) and (b, 0) is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2

√k
2

− 4c

√4k2 − c

√4c − k2

√k − 8c

https://dl.doubtnut.com/l/_FLSOqMuhSPrD
https://dl.doubtnut.com/l/_9Ejhry6yYBCc


17. If  , then the value

of k is

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

= +
kx

(x + 2)(x − 1)

2

x + 2

1

x − 1

18. If  ,then the value of A

+ B is

= +
1 − 2x

3 + 2x − x2

A

3 − x

B

x + 1

https://dl.doubtnut.com/l/_QKBh3mJj5NoN
https://dl.doubtnut.com/l/_I9TdKM8Nk7Ur


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−1

2

−
2

3

1

2

2

3

19. The number of roots of  is

A. 4

B. 2

C. 3

(x + 3)4 + (x + 5)4 = 16

https://dl.doubtnut.com/l/_I9TdKM8Nk7Ur
https://dl.doubtnut.com/l/_eV24BXCf4vbu


D. 0

Answer: A

Watch Video Solution

20. The value of  is

A. 1

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

log311. log1113. log1315. log1527. log2781

https://dl.doubtnut.com/l/_eV24BXCf4vbu
https://dl.doubtnut.com/l/_gEHv0MTkjIma


Problems For Practice I Answer The Following Questions

1. Solve

Watch Video Solution

|3x − 4| = |x − 2|

2. Solve and graph the solution set in a

number line

Watch Video Solution

2|x + 3| − 5 ≤ 7

3. Solve  and express using interval notation

Watch Video Solution

< 2
1

|3x − 2|

https://dl.doubtnut.com/l/_gEHv0MTkjIma
https://dl.doubtnut.com/l/_2ei1KgcVGYg0
https://dl.doubtnut.com/l/_pRnQyZ6zbrCj
https://dl.doubtnut.com/l/_e09WHrCEBeAT


4. Solve the linear inequalities

Watch Video Solution

2x − 4 ≥ 0, 3x + 9 ≤ 3

5. A and B spend monthly such that the difference between

their spending is   rs 600 monthly. If A spends 24,000 per

annum what are two possibilities for B's spending?

Watch Video Solution

6. sovle

Watch Video Solution

< − 1
6 − x

3

x

4

https://dl.doubtnut.com/l/_e09WHrCEBeAT
https://dl.doubtnut.com/l/_Zt4RDNxNtYZ4
https://dl.doubtnut.com/l/_NIPn3xEW11Ho
https://dl.doubtnut.com/l/_IbvWD2tPMCfT
https://dl.doubtnut.com/l/_DUrjaRsto6xm


7.   If the roots of a quadratic equation is  find the

quadratic equation

Watch Video Solution

(1 − √6)

8. If a and beta are   the roots of the equation

 from the equation where roots

equation is are

Q

Watch Video Solution

(x2 − 2x + 3 = 0)

and
1

α

1

β

9.   If  and  are   the roots of the equation

 from the equation where roots

α β

(x2 − 2x + 3 = 0)

https://dl.doubtnut.com/l/_DUrjaRsto6xm
https://dl.doubtnut.com/l/_PZSFOlX6Fz0J
https://dl.doubtnut.com/l/_pXwcrMf99ysB


equation is are

Q

Watch Video Solution

a2

β2

10.   If a and beta are   the roots of the equation

 from the equation where roots

equation is are

Q

Watch Video Solution

(x2 − 2x + 3 = 0)

and
1

α2

1

β2

11. Draw the graph of , find its line of

symmetry, vertex, x intercepts

Watch Video Solution

y = x2 − 3x − 4

https://dl.doubtnut.com/l/_pXwcrMf99ysB
https://dl.doubtnut.com/l/_fLUf31jQhjRZ
https://dl.doubtnut.com/l/_VbtVPzEg2Se4


12. Solve:  


Solve 


View Text Solution

√x + 5 < x − 2

√ − x2 + 4x + 5 = x − 2

2x2 − x + 15 < 0

13. If x = 1 is one root of the equation 

 find the other roots.

Watch Video Solution

x3 − 6x2 + 11x − 6 = 0,

14. Determine the region in the plane determined by the

inequalities. 

https://dl.doubtnut.com/l/_VbtVPzEg2Se4
https://dl.doubtnut.com/l/_ilemKq8jtud5
https://dl.doubtnut.com/l/_Cw2W6xueZF40
https://dl.doubtnut.com/l/_jGRkDhomFPrX


2x + 3y .

Watch Video Solution

≤ 6, x + 4y ≤ 4, x ≥ 0, y ≥ 0

15. Rationalize the denominator

Watch Video Solution

1

√5 + √4

16.  Find the square root of 

Watch Video Solution

9 − 4√5

17. Ifx =  find

Watch Video Solution

√3 + √5
x2 + (1)

x2 − 2

https://dl.doubtnut.com/l/_jGRkDhomFPrX
https://dl.doubtnut.com/l/_NK8Zc3UObMUN
https://dl.doubtnut.com/l/_o3BzhuxJWfBg
https://dl.doubtnut.com/l/_9DUNLQx1SXr6


18. solve : .

Watch Video Solution

log8x + log4x + log2x = 11

19. Prove that

Watch Video Solution

x
b − c

bc x
c − a

ca x = 1
a− b

ab

20. If  find 

Watch Video Solution

log 102 = .3010, log 103 = .4771 log10 36

21. Solve  = x-5`√x2 + 1

https://dl.doubtnut.com/l/_9DUNLQx1SXr6
https://dl.doubtnut.com/l/_mgvKLjQ9ibNk
https://dl.doubtnut.com/l/_eeuYMQQBssIP
https://dl.doubtnut.com/l/_GdgQtmunKPp7
https://dl.doubtnut.com/l/_rCYFJESiGZ2q


Watch Video Solution

22. Prove: 

Watch Video Solution

x
log( )

xlog ( )x
log( )

= 1
b
c

c
a

a

b

23. Show that N + log 

Watch Video Solution

loga N = 0
1

a

24. Resolve with partial fractions 

Watch Video Solution

1

(x − 1)(x + 2)

https://dl.doubtnut.com/l/_rCYFJESiGZ2q
https://dl.doubtnut.com/l/_94kIjjdFBLLX
https://dl.doubtnut.com/l/_Sf6ptOgExcZ2
https://dl.doubtnut.com/l/_fhRkHAFP75k5


Problems For Practice I Choose The Correct Option For The

Following Mcq

25. If alpha  are the roots of ar

from the equation where roots are and

Watch Video Solution

and β ax2 + bx + c = 0

1

α

1

β

1. Solve 2|x - 5|+ 5 = 21

A. 

B. 

C. 

D. 

x = 13 or 3

x = − 13 or − 3

x = 13 or − 3

x = − 13 or 3

https://dl.doubtnut.com/l/_92qiOuyK8Gbl
https://dl.doubtnut.com/l/_BXyK05Q9X9DL


Answer: C

Watch Video Solution

2.  and  is given by interval notation as

A. [-2,6] 

B. [-2,6)

C. (-2,6] 

D. (-2,6) 

Answer: A

Watch Video Solution

x ≤ 6 x ≥ − 2

https://dl.doubtnut.com/l/_BXyK05Q9X9DL
https://dl.doubtnut.com/l/_RFueqHW8gZHt


3.   A cubic equation has roots 2 and  Then its

equation is

A. 

B. 

C. 

D.  

Answer: A

Watch Video Solution

1 + √3

x3 − 6x2 + 2x + 4

x3 + 6x2 − 2x + 4

x3 − 6x2 − 2x − 4

x3 + 6x2 − 2x − 4

4. If  has equal roots the value of k is

A. 12

x2 − 6x + k = 0

https://dl.doubtnut.com/l/_yr181hr4ZgaZ
https://dl.doubtnut.com/l/_3wpQhhsGt526


B. 3

C. 9

D. -9

Answer: C

Watch Video Solution

5. The solution set for the inequality is

A. 

B. 

C. 

D. 

2x2 + 5x − 3

[ − 3,
−1

2

[ − 3,
−1

2

[ − 3,
−1

2

[ − 3,
−1

2

https://dl.doubtnut.com/l/_3wpQhhsGt526
https://dl.doubtnut.com/l/_Ddj1ckF881Tv


Answer: D

Watch Video Solution

6. If a and b are the roots of the equation 

and satisfy  then the value of k is

A. 3

B. -6

C. (-6,6)

D. 2

Answer: C

Watch Video Solution

x2 − kx + 9 = 0

a2 + b2 = 18

https://dl.doubtnut.com/l/_Ddj1ckF881Tv
https://dl.doubtnut.com/l/_aGgl2ImlnIdy


7. The solution set of the following inequality

 is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

|x − 1| ≤ |x − 3|

( − 1, ∞)

( − ∞)

−1 ≤ x ≤ 3

8.  (where p is a prime number) is

A.  imaginary number

√p

https://dl.doubtnut.com/l/_Wnfi89f3Ql6m
https://dl.doubtnut.com/l/_rxRwpQYYFN7R


B.  rational number

C.  irrational number

D. none of these

Answer: C

Watch Video Solution

9.    is equal to

A. 

B. 

C. 

D. 

log2 4 + log4 4 + log16 4

2

9

9

2

2

7

7
2

https://dl.doubtnut.com/l/_rxRwpQYYFN7R
https://dl.doubtnut.com/l/_kk4wTx9xDLYJ


Answer: D

Watch Video Solution

10. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(x8y4)
1
4

∣∣x
2y∣∣

x2|y|

∣∣x
2∣∣y

∣
∣
∣

∣
∣
∣

x2

y

https://dl.doubtnut.com/l/_kk4wTx9xDLYJ
https://dl.doubtnut.com/l/_TNQ5IN7ejvCN


11. Match the following 

View Text Solution

12.  Find the incorrect statement in the following.

A. = ax−yax

ay

https://dl.doubtnut.com/l/_VxlLCN47pLRD
https://dl.doubtnut.com/l/_Mi1rAgL3zLkB


B. 

C. if the discriminant of  is zero the

roots are imaginary

D. 

Answer: C

Watch Video Solution

logam
n = n logam

ax2 + bx + c = 0

logx x = 1

13. Find the incorrect statement in the following

A. 

B. 

F or a, b, c ∈ R, a(b + c) = ab + ac

Ifa, b ∈ R and a < bthena + C < b + cf or allc ∈ R

https://dl.doubtnut.com/l/_Mi1rAgL3zLkB
https://dl.doubtnut.com/l/_yECIZVTEH5FU


C. 

D.  is a rational number

Answer: D

Watch Video Solution

Ifa, b ∈ R and a < bthenax < bxf or allx > 0

√2

14.  Find the correct statement in the following

A. 

B.  sqrt3 is a irrational number

C. 

D. 

Answer: B

∈ R − Q
24
7

Ifa, b ∈ R and a < bthenax > bxf or allx > 0

ax. ay = ax .y

https://dl.doubtnut.com/l/_yECIZVTEH5FU
https://dl.doubtnut.com/l/_99dDa9UUD7uK


Watch Video Solution

15. Find the correct statement in the following

A. 

B.  

C. The equation  has equal roots

D. has two real roots

Answer: B

Watch Video Solution

logam − loga n = log(m − n)

am
n

= am ⋅n

x2 + x + 1 = 0

x4 − 16 = 0

16.  Find the incorrect statement in the following

https://dl.doubtnut.com/l/_99dDa9UUD7uK
https://dl.doubtnut.com/l/_gURliR8qfS8n
https://dl.doubtnut.com/l/_jAcxXz3hFMAU


A. If x, y inR, then Ix + y| = |x| +|y|

B. For any x, y in R, |xy|=[xl |y|

C. |(x)/(y)|=|(x)|/|(y)| For all x, y in R and yne0

D. If x, y in R, Ix| +|y| = |x -y|

Answer: D

Watch Video Solution

17. Find the odd one out The inequalities

 is represented in interval

notation as

A. 

B. 

−3x > 0 or 3x − 4 < 11

( − ∞, − 5)

(5, ∞)

https://dl.doubtnut.com/l/_jAcxXz3hFMAU
https://dl.doubtnut.com/l/_zINZTfxTFeim


C. (0,5)

D. (-5,0)

Answer: A

Watch Video Solution

18. Find the odd one out with respect to root of

A. 

B. 

C. 

D. 

Answer: D

x2 − 4x + 4 = 0

x2 − 6x + 9 = 0

x2 − 8x + 16 = 0

x2 − 5x + 6 = 0

https://dl.doubtnut.com/l/_zINZTfxTFeim
https://dl.doubtnut.com/l/_iuuhrIfaf0am


Watch Video Solution

19.  Find the odd one out from the following

A. 3

B. (-5)

C. 

D. 

Answer: D

Watch Video Solution

7
2

√2

https://dl.doubtnut.com/l/_iuuhrIfaf0am
https://dl.doubtnut.com/l/_1IdiG9sTlkaR


20.  Assertion: The equation two solutions.

Reason: =x if x lt 0

A. Reason is correct explanation to Assertion

B. Reason is not correct explanation to 

C.  Assertion and Reason are not true

D. Reason is true but Assertin not true

Answer: A

View Text Solution

x2 + |x − 1| = 1

|x| = x if x ≤ 0

21. Assertion: The equation has two

roots. 

ax2 + bx + c = 0

https://dl.doubtnut.com/l/_OHq5DWg50Q7f
https://dl.doubtnut.com/l/_x4Jgc0NbL7uA


Reason:  can be written as 

 for some 

A. Reason is correct and so Assertion is correct

B. Reason is correct and so Assertion is not correct.

C. Both Assertion and Reason are incorrect

D. There is no link between Assertion and Reason.

Answer: A

Watch Video Solution

ax2 + bx + c = 0

(x − α)(x − β) = 0 α and β

22. Given  then

A. 

∣
∣
∣

∣
∣
∣

> 1
3

x − 4

x ∈ (∞, 3)

https://dl.doubtnut.com/l/_x4Jgc0NbL7uA
https://dl.doubtnut.com/l/_q5JbXuDJ7Vbl


B. 

C. 

D. 

Answer: D

Watch Video Solution

x ∈ (4, ∞)

x ∈ (1, 7)

x ∈ (2, 3) ∪ (4, 6)

23.   If alpha  are the roots of  find

the value of 

A. 

B. 

C. 0

D. none of these

and β 2x2– 3x − 4 = 0

2α2 + β2

41
4

√41
2

https://dl.doubtnut.com/l/_q5JbXuDJ7Vbl
https://dl.doubtnut.com/l/_GKeQSY9HJ0sc


Answer: B::D

Watch Video Solution

24. If a and beta are the roots of  the

equation where roots are 2alpha and 2betai

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2x2 + 4x + 5 = 0

4x2 + 4x + 5 = 0

2x2 + 4x + 50 = 0

x2 + 4x + 5 = 0

x2 + 4x + 10 = 0

https://dl.doubtnut.com/l/_GKeQSY9HJ0sc
https://dl.doubtnut.com/l/_xLCRhWaCJbGw


25. The minimum point of  is

A. (2, -9)

B. (-2,-9)

C. (-2,9)

D. (4, 5)

Answer: A

Watch Video Solution

y = x2 − 4x– 5

26. The condition that the equation may

have one root is the double the other is

A. 

ax2 + bx + c = 0

2b2 = 9ac

https://dl.doubtnut.com/l/_gOpT2TxBLIsd
https://dl.doubtnut.com/l/_RZaX346jsWRv


B. 

C. 

D. 

Answer: A

Watch Video Solution

b2 = ac

b2 = 4ac

9b2 = 2ac

27. Solve

A. :(1,-3)

B. 

C.  (1,-1)

D. (3,-3)

√7 + 6x − x2 = x + 1

(3, − 1)

https://dl.doubtnut.com/l/_RZaX346jsWRv
https://dl.doubtnut.com/l/_zZEQfqsXHBlS


Answer: B

Watch Video Solution

28. Solve 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3x2 + 5x − 2 ≤ 0

(2, )
1

3

[ − 2, ]
1

3

( − 2, )
1

3

(2, )
−1

3

https://dl.doubtnut.com/l/_zZEQfqsXHBlS
https://dl.doubtnut.com/l/_xzgJcrr3icDH


29. The zero of the polynomial function 

are

A. (9,16)

B. (3,4)

C. 

D. 

Answer: C

Watch Video Solution

f(x) = 9x2 − 16

( , )
4
3

−4
3

( , )
3

4

3

4

30. The value of a when  is divided by (x - 1), the

remainder is 1, is

x2 + 2x + a

https://dl.doubtnut.com/l/_Vntfh1zYJsxE
https://dl.doubtnut.com/l/_GYzGUbWtIyf3


A. -1

B. 1

C. 2

D. -2

Answer: A

Watch Video Solution

31. Find the other root of  given that 

is a root:

A. 

B. 

C. 

x2 − 4x + 1 = 0

2 + √3

√3 + 2

√3 − √2

2 − √3

https://dl.doubtnut.com/l/_GYzGUbWtIyf3
https://dl.doubtnut.com/l/_t2MIMPyDJdnB


D. 

Answer: C

Watch Video Solution

√3 − 2

32.  If then value of A is

A. 2

B. 0

C. 3

D. -2

Answer: D

Watch Video Solution

= +
x

x2 − 5x + 6

A

x − 2
B

x − 3

https://dl.doubtnut.com/l/_t2MIMPyDJdnB
https://dl.doubtnut.com/l/_T5NQNOC11ADk


33.   is

A. 20

B. -20

C. 

D. 100

Answer: B

Watch Video Solution

4√−24 × (1000)
1
3

210

34. 1f  then  is

A. 

= √3 + α
1

√3 + √2
α

√2

https://dl.doubtnut.com/l/_T5NQNOC11ADk
https://dl.doubtnut.com/l/_FZUhF6mnWzb6
https://dl.doubtnut.com/l/_lKR8cCBcTUyi


B. 

C. 

D. 

Answer: B

Watch Video Solution

−√2

√
3

2

√3

3

35. . Logarithm of 144 to the base  is

A. 2

B. 3

C. 4

D. 5

2√3

https://dl.doubtnut.com/l/_lKR8cCBcTUyi
https://dl.doubtnut.com/l/_27hoLJZisyII


Answer: C

Watch Video Solution

36. . Logarithm of 144 to the base  is

A. 5

B. 2

C. 4

D. 3

Answer: C

Watch Video Solution

2√3

https://dl.doubtnut.com/l/_27hoLJZisyII
https://dl.doubtnut.com/l/_4TkZLDliVLGc


37.  Given 

 has equal roots


 





If x, y in R |x + y| = |x – y| then xy = 1 Find which two are

correct in the above

A.  (i) and (ii) are correct

B.  (i) and (ii) are correct

C. (i) and (iii) are correct

D.  (i) and (iv) are correct

Answer: C

View Text Solution

x2 − 8x + 64 = 0

logma + logna = logm+n
a

ex−y = ( )
ex

ey

https://dl.doubtnut.com/l/_oUa1mUjvGDlz



